KEIRR-E

(1) BEEHZ TS,
18 | 268 | 34 | EEE
0 35 83 2 120
0%) 29% 69% 1% 100%
FEE = 2A01% 155 = 0.40%)

IF 5 = 83N(E0%)

24 =35 A(20%)

O 144 = 0A(0%)
@ 2 4= I5A(20%)
© afEE=0IA(6I%)
O|EE=2A01%)

(2) tEMEBZ TS,
E] x BEE &
59 58 3 120)
49% 48% 2% 100%

O B =504(45%)
@20 =568.4(48%)
O WEE = 3A(2%)

@) BELDRDIIVAVTAVE—RYMITEEY . 1 2BRA TS

EEIIN

RED/[ V3> RI=/%Y

CEAOAVILTHRyY FHATED=134(10%)
@EEO/AV TRy FHTED=T1A(59%)
OV LTHDLN Ry FTTEEL=10A4(3%)
O RIZ/IY D DIEHLY = 244 (20%)

VavT | vavT | EHH | 2540 =
Fobat | Fobst | Rob | TS| RES B
TES | TES | TELW
13 71 10 24 2 120
10% 59% 8%) 20% 1% 100%
Bamsiy
ALTFY
FHTES
E {LTAY / =
yl‘imi [ (110::5;
24.4(20%)
FAS b P o
BoHLF | A
(e -2
“{SJS* DTy O REE = 24 (1%)
ALTEY
ALBTES
=71A
(59%)




4) RTAA—RVEEDGWNMESTVET Hh ?
1R LL [ 1B ~2] 2BFRIRL | E-TL E -
A 5| L A48 = A
40| 22 15 36 7 120
33% 18% 12% 30% 5% 100%

WEE = 7 AE%)

TEEMILLA = 400
(33%) O 1KMELA = 40 A (33%)

@ 1 FM~ 2B M = 22.A(18%)
©2FMLELE = 154(12%)

O {#F o TLVELY=36.4(30%)
CREE=TA(E%)

FEoTLVIL = 364,
(30%)

2ESMILLE = 154 1B ~2E = 22 A
(12%) (12%)

(6) 42 B3—RYPEMIE>TNES A ? (EHEET)

e | s | oy | EROE| ZET vavey o

= B | | 7 AR
13 22 67 Al 20 18 32
10% 18% 55% 59% 16% 15% 26%
A
O 5 10 15 20 25 30 35 40 45 50 55 60 65 70
tA—=13A [ ]
2—n=22 A [T
amAm=er A [ R

4 ERECEE =714
5:7RYeF07. @FE=-20A [
Bz ub g =184

ER R SEE )

TEoTLMEL =324 |0

(© L83 E DS, SE DI TUSCHIBYET 112 HHEHD)
el IZ 1<
TWAC (25| PR Eunts | 2ot |EPC0
LFL | TES 5 °
40 10 22 15 13 26
33% 8% 18% 12% 10% 21%

A
0O 2 4 & B8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40 42

ZEWRABECHTES =..
aFMERD S =224 [
AR ERACSES = 154 |

B:@EoTLL =284 [

EREESRDmET)




Q) gERELEoTLET A

0 B

waEz | wycw | T2CY | mEn |
2

74 12 29 4 119

62% 10% 24% 3% 100%

o TLVELY =

20 h(24%)

OBESOMSEESES = T44(62%)
@EEMSEY TES =12A(10%)

= - P - SFE S TLVELY=29.4(24%)

*gﬁ HEYT T EES = TaA OREE= 40(3%)
=12k |—
(62%)
(10%)

X ZEEREZEIS—1 (0%)ZRK<

(8) BHEFEEMICHE->TNET A ? EHEET)

2 Jag
BE | A—n | -4 | B |FEER S5 | g | BOTL
BRI ¢
69 82 35 34 48 22 46 26
57% 68% 29% 28% 40%) 18% 38% 21%
A
o 5 10 15 20 25 30 35 4 45 50 55 60 65 70 75 80 85
e T T |
2A—n=s2h [ IRt
ay—L=3s5h [
2 =344 [

sERECRE =448 |
6:IRYPTI0T, @FE=22A [
ThAS=a8h [

B> Uil =20

EREGE#SOEZE)

© BBRENLI I EESEMIE B LA (LTI 102
10:8LL | B0:ELL | 5O&ELL | 5O&ELL o =
WBEL| oA | SOMEL | SORE | b | mEE | s

43 18 10 7 35 6 119
36% 15% 8% 5% 29% 5% 100%

BEE=8A[E%)

3'-: © 1 0EELA = 434 (36%)
36%) ® 3 0:EUM = 18A(15%)

D 6 0ELEIA=10A(8%)

0 50@HE=TAES)

O AL = 35 A(29%)

® MOEE = 6A(5%)

1Ly = 35 A(20%)

5O0MELE =7 A(5%

5 OMELR = 104/
(B%)

X ZEREIS—1 (0WZERL




(10) BHRBETA—IAUNDCLET HERMIFENSNTYH ?

1EERILL | 2B5RALL | 28R L ~ =
" " i FEHiLy | EEE &t
38 18 22 37 5 120
31% 15% 18% 30% 4% 100%

H|EE = 54 04%)

EhtL = 37 M@

gy

T BMELA = 38 A
i ©31%)

O 1 EMER=38.A(31%)
@ 2FMLLR = 18A(15%)
© 2 FMELE = 224(18%)
O {EddELy = 37 A(30%)
O MEE =5A4%)

(1) EHEFELFESLE, fEOFTVSCLEHYFETH 2 EHEER)

a%E Rk s
o | REkIZR . APBD

T3S |25E03 ﬁf;j%’* *ﬁ';ﬁ)gi’* 2o | ot |Ebin
rixin | oES B ISR
ELEWL

32 8 7 4 50 16 32

26% 6% 5% 3% 41% 13%) 26%

A
o 5 10 15 20 25 30 35 40 45 50

2RMITHRBECHTES =8A
IBMERDE =T A
AMFERDE =N

SHSELANEDA—...

EREESRDmET)

G Emifh = 164

TiERAGL =32 A [

(12) Eﬁoﬁfﬁf EFLENTT D
mbily | TIN | WEE | #
81 14 24 119
68% 11% 20% 100%

BEEE = 245(20%) .

BEZ{TLL=
14Ah011%)

L
(B8 %)

V=814

X ZEERZEIS—1 (0%)ZRK<

OFbi=Ly= 81A4(68%)
@EECTEL=14A011%)
© MEE =24 A(20%)




(13) EHEFELHE L NERIIATTH, ? GEREET)

BREZEL | A% | F—LZE (WIS EIEI&%%L 7837, | hrst | HFi-l<
Tz Lfzby | Lf=by | flEL=0 . BRMRIC| FELOL | TKW
Mkt AV A

47 70 18 32 47 17 25 13
39% 58% 15% 26% 39% 14% 20% 10%
A

TREEE Ltz =7 A [ 1
2A—RELI =70 [
IH—hELizlv=8h [
AP ARIZ@E N =320 [
SERCREEELA=L=aTA [
6FSRTOT, BRE..
ThATEENL=254

Bt { TELY =134

EREESRDmET)

(14) Z4NR) T EFES>TVET D

iR
fEoTL | 0Tl (128, 5
6 t;['\ bbll\\b ' *Eg n+
28 33 49 10 120
23% 27% 40% 8% 100%)

\EE =104
% { T ®oTL B =28
._ i A23%)

O#oTLVE =28A(23%)
@ESTLELY=33A(27%)
QHEELY - S = 494(40%)
O WEE=10A(8%)

HEBLLY - b
Bl = 404
(40%)

E':'CL\)’JL\ =
33A(27%)

(15) FYFHRICEALT, RDERDPTH>TNSEDEENTY . EREIETR

— e - ay [ .
s | e | 727 (matem| mes WROE w17 ror REED) o327y | FE7Y| R | g

o— ME |S7,2| v2 | B
108 82 102 109 65 56 87 29 61 97 93 89 4
90% 68% 85% 90% 54% 46% 12% 24% 50% 80% 7% 14% 3%
A
o 1o 20 3o 40 50 B0 70 =) e 100 110

1: 3 fEHE = 1080
2:AMli=82h

A wEa—SF LA =07 [
MFETZEA=034 [0

12:3 0 FOE=80L |
13U = 4k [©

I 3T i—=1024

H 48 ) R = 1000 [T ]
5] 5= 650

= ok miEEE =56 A [

ipi THEMR =57 A

£ SR Fsry b =204

i

=

L]




